000 OO (Tokyo Tech)

0oOo00oOooon
(00000 201500)

ooooobogn

goo oo

20160 10 60

OoDo0oO0ooo

2016 0 10 60

1

/ 26



000 (00O00110)000

gopoooo:is-tMooOoOoOO

e Whatisthat model? = 000000000000 (D0)0O0O0OOOO
goooon

o ISID OO (Investment) D00 (Saving) 000000 <« 00000

o LMOD OO O OO (Liquidity demand)=00 00 (Money supply) & 0000
oo

IS-LMOO00M 0000000000000 0ooo0oooooooooo
ggo

) 0000000000000 0O0O0000ODO0OUODOOOO

e What is liquidity? = 000000000000000O0O

000 00O (Tokyo Tech) OoDo0oO0ooo 2016 0 10 60



Plan of Talk

@ U0oonDd
o JOOOODOOOODDOO
o JOOOODOOOOOOODOO
o JOOOODOOOOOOODO

@ Uuoooon

goood
gobooooooobobooooboo
o JOOOODO

@ 0000000000000 0O0O0O0OD0O0O0O0O0O0O0OO0O0O0O?? < IS-LM
oo
e JO0OIODDOODDODOOO
e JO0OIODOODODOODOOODDODOOODDODO?

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 3/26



oooobooogoon

o 0O DOOODOOIOIODOODOODOOODOOODOODLOOODOODO
Y-TO0O00D00O00oooooo

C=C(Y -T)

CHoooooooooooooo

@ C0) >0« 00000000 OUDOUOOOOODODOO
@0<C(H<le

e C/()>0: 0000D0DOOOOOODOOO
e C'()<1:00000D00ODOOOOOOOOOOOOOOO

e 00D0DOODOOO
CY-T)=A+cx (Y =T),

O0O00A c0A>0,0<ce<10000000DO0OO

000 00O (Tokyo Tech) gooooooo 2016 0 10 60 4 /26



oooooboon

e JOODODO
@ 000000 (Marginal Propensity to Consume, MPC)
C'(Y -T)
000 ¢'()ooo
@ 000000 (Average Propensity to Consume, MPC)

oY - T)
Y-T

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 5/26



oooooboon

cv-m

e MPCODOODOO (=¢)
e APCODDODIODONOOOODODONONONDOOOODO

000 OO (Tokyo Tech) OoDo0oO0ooo 2016 0 10 60



e J00DOODLOODODULOOIDL LOOOUODOOLOODODOO

I=1(), I'(r) <0

e IOODOODO

e JO00OOUDOOUOLODOOODLOOLUDLOOLUDOOUOLOOLODOOODOOO
goboobodooooooooooooobooooooooobooooooo
oooooooo

o HOOOODOOODOOODLOOOODLOOODLOOOOOOODLOOODOOOO
oobobooooooobooooooooooboooobobooboooobobooooo
goboooooooboooooboooOoooboOooboooo

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 7/26



gooon

e 0J0OD0DODOTUOOOOOGOOOO

@ ifG>TIMOIO0 TO0O0ODOODD G-TOOOODOOOOOOOO =000
ooo

Q@ fG<TINOIUOO0OODUOOOONUODOOD =000000

@ ifG=TUD 0000 (balanced budget)

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 8 /26



goooobboooooobonbod

e JOODOOODOODOOO

e OUDOUODOO =00

Y=Z&Y=C+I1+G
SY=CY-T)+1+G

=00000000000000

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 9/26



goooobboooooobonbod

e JOODODODOODOO

Demand Z, Supply Y
, Supply: 45-degree line

Demand: C(Y-T)+/+G

> [ncome Y

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 10 / 26



goooob: dggoon

gogbgoobooboabod

e0D00DOD
Y=CY-T)+I1+G

e JIDDODOUO (0 AODDDOO)

e J0O0 (0O=00=00)000O0O0U0OULOOOUDO

e J0UO0DDOU (esp. UDDOUDOD GDP)DUOODOODOUDOOOODO

ooooooboboo =0000 I+0000

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 11 /26



goooob: dggoon

Demand Z, Supply Y
Supply: 45-degree line

A

EERE Demand: C(Y-T)+/(r) + G

> Income Y

e 0 AODOOOOSupply>Demand = 00000000000 OO
e 0 AODOODOUOSupply<Demand = 000000

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 12 /26



gooooon

e JOODD GOLODOOODLODODOOO

Proposition

Y=CY -T)+I1+G&dY =C'(Y —T)dY +dG
day 1

TG i—oy-1n "

(Tokyo Tech) oooooooo

2016 0 10 60 13 /26



gooooon

e D0DOOC(Y-T)=A+¢(Y -T)0000D0D000

av _ 1
dG  1-—¢

Demand Z, Supply Y
, Supply: 45-degree line

Demand: C(Y-T)+/+G

> Income Y

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 14 / 26



good

e dY/dG>1, 0000 100000000000O000O0OOOUOOOO
00000000 (multiplier effect) D0 00O

e 00O0GtTOOODODO
¢

@Y=C+I+GO0000UODYM(OUDOO)....00DO0OOYTO
@ ()ooDooooooyY+tOcOoOOooo Ct

(D000 Y 1t= ()= (i) ..

To sum up,

1 4+ c+F+E+... =

oooo 000 -00000000

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 15 /26



20000

OoDo0oO0ooo 2016 0 10 60



goooon

e 0000000D0O0ONDODONONDODONONOONONDOOOD MPOOOO
MP =P x L(i,Y)
e 00DODOOOm=MP/POODOOO
m=L(i,Y).

00 L(,Y)OOO0O0OOO (real money demand function) D0 OO0 00O
gobooobooboon

OLG,Y) _, OLG,Y)

i oy Y

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 17 / 26



goooon

e 00 YOOOYOOOOODODODDODODDDDODDOOOOOOOOOOO
e 0000O00DDDDOOONOODD M°OOO0O0DODDODOOOON

e 00IDDDODO B
M%/P=L(i,Y),

M /P

L, Y)

Real money

000 OO (Tokyo Tech) OoDo0oO0ooo 2016 0 10 60



gooooboon

e J0OUODOOULOODOODDOOLOODLDODOOOODOOO

e J00ODOUOLOODODOOOLUOODOOOOODOODOOOOO

gboooooooooooboooooboobo

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 19 / 26



gooooooon

e JUIDUOrI0ODUODODUOLD =000O0ODOOODOO
r=1—Tm

000000

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 20 / 26



IS-LM O O

ooooooooooo

gooo

0ooo
000000y =C(Y -T)+1(r)+G

M
00000004 =L(rY)

(Tokyo Tech) OoDo0oO0ooo 2016 0 10 60



SOOoo0od

e JOOOOO
Y =C(Y -T)+1I(r)+G

e 00 r0000DOOOODOOOODOYDOOOOD

dy I'(r)

1oy -m "

000 OO (Tokyo Tech) OoDo0oO0ooo 2016 0 10 60



SOOoo0od

000 OO (Tokyo Tech)

(a)

(b)

Demand

45-degree line

CY-T)+1(n+G
(forr=ry)

CY-T)+1(r)+G

(forr=r,>r;)

IS curve

OoDo0oO0ooo

Y

2016 0 10 60

23 /26



LMOGOQOQOO

e 00D0DOO
M/P =L(r,Y)

e YOUDODODOUODDDDOODODOOODODOODODOODOD

AL(r,Y)

EY% > 0.

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 24 /26



LM OO

(a) (b)

LM curve

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 25 /26



IS-LM

o ISODODO LMOIOD =00000000D00000DOOOO
o JOODODO AOODOOODODODDODODODOOOOOCOOOOOOOYOT

LM curve

IS curve

Y

e J0OIDODDOUD(GL THYOODOUO (M)UDOUOODOUDOOOO
obooooboooooooo

000 OO (Tokyo Tech) gooooooo 2016 0 10 60 26 / 26



	Introduction
	²ßÊ¾»Ô¾ì

